2000 A}3] 7)akn) WEZE 2131 WSFE 120 AN 201 IHH-e-dH]
At o At = 7] =
8,547,635
1,644,699
1,644,699
1,587,527
1,567,527 |01 Lu+-g-43H]
OLdrkegH] FoA Ak (=264,767)
— A ukg=g-v] 161,701,000 161,701
—ZFeF 2 AA 37,476,000 37,476
-+ 57,090,000 57,090
— ) 8,500,000 8,500
OF7F=2 9 (=1,302,760)
—dolwl A} &4 AR (LA 300,000 = 307] * 129 = 108,000
— o] wol st WAL 4 AAFE(HAA30HY)
70,000,000¢) * 173 = 1,190,000
—Z20lAl A 280,000 * 173 = 4,760
20,000 |02 SYA}--<gH]
Od=HgstsFA 27| 20,000,000 * 1] 20,000
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2000 AFs]ZpER] 2100 wWSHESH] 2130 wWSXE 2131 wWSIE 120 AAAAH] 301 YWrRAAHE
e =5
o A o g = d =
A& A A3 =
21,872 10 YA W HAF =
O3l L FAFY A EAAE AR g+
7,000 = 507 = F43] * 109 = 14,000
OAHAT Y F hl A BAMA ¥ EAAS
7,0009 * 178 * 33| * 45 * 89 = 672
OArlF A 27k 7h2 745)
1,500¢ * 509 * §°33] * 45 * 8¢Y = 7,200
5,500 |12 7] el R
OBAetE Frzras BF Ads (=5,500)
— o4 2,000,0009) = 14 = 2,000
- 1,000,000¢) * 29 = 2,000
— % 500,000 * 39 = 1,500
2&% . 6,902,936
2;?}%] o 6,902,936
S gro] 4l 734,000
48,200 (02 WIZHE g1 %
OAdgdIstudd &9 7,040,000 * 574 = 35,200




2000 ARSIZNEE] 2100 wSEEshH] 0 2130 WSS 2131 WSS 220 AAAY 307 WIZFolA
il - o AF o s = 7] =
A8} Al Al & =
Oz AR AH A 2,500,000¢) * 2704 = 5,000
OAA P A &9 2,000,000¢ * 4%7] = 8,000
160,000 |04 Q1ZFEALE. 2 - 9 €
OA23] Hefast=A 71 30,000,0009) = 30,000
OF L4 N 120,000,0009 = 120,000
O #std x4 3] PatH] A ¢ 10,000,000 = 10,000
525,800 |05 WZFS EFF
OANFAHY G (AA, 7hoF, 21, 7A3l)
250,000,000 = 250,000
OdA et FAnFY FFEZ (=175,000)
— gt 5,000,0009) = 407 = 50% = 100,000
—ARE 5,000,0009) = 20™ = 75% = 75,000
O7Foetal Pol AT 9] HZE 1,400,00090 * 729 = 100,800
Preazas 5
5,828,936 |06 nlS7) ol U e w2
OxZzussta wss4 ANA 1,000,000,000¢ = 1,000,000
ORH 254 A4 6,000,000 = 6,000




2000 A}3] 7)) k) 2100 WS LR3I 2130 WSFE 2131 wSFE 220 AAAG 308 A @A o] A

35 _ -
o AF of Ak = 7] x
A A =
Orzold A4 3 50,000,0009) = 50,000
Ox%, 93 doZAL A8 (=1,022,268)
— Fo 2,000,0009) * 339 % 129 = 792,000
] 1,100,0009 * 339 * 13 = 36,300
R 158,0009 * 339 * 129 = 62,568
— A 792,000,00091 /12 = 66,000
— R 300,0009) * 331 = 9,900
RS Et) 1,500,0009 * 337 = 49,500
—9AY 2R} B 50,0009 * 109 * 129 = 6,000
O¥&EAY % - % n5stm 34 A%y A9

3009 = 9,500% * 180 = 513,000

1,069,168,0009 = 1,069,168
O9l=olassta #9 (=618,500)
— WA AR 2,500,000 * 12¢¥ = 30,000
— g EW ] 2,000,000 = 1494 = 129 * 50% = 168,000
— 32 dn] (=420,500)
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2000 ARS|ZHEM] 2100 W SEESHH] 2130 wSFF 2131 wWSFE 220 AAAY L 308 AAEAFA
e =5
o AF o Qs = 7] =
A8} Al A g =
&} A 5,000,000 = 1507 * 50% 375,000
WA} 6,500,000 * 149 * 50% 45,500
ORHEAT FHAZ= A} 1,500,000,000¢ 1,500,000
OngH %% -3 JojIslr] U3 10,000,000 10,000
ORHALEH JALEYD A 40,000,000 40,000
%%x} o4 250,000
250,000 |01 RIZFAFELH 2
O T A A A 50,000,000¢1 = 574 250,000
i?% S 90,000
90,000 |01 AAHL &35 F 51
O WA} &2 H]E19] 3,000,0009 * 307] & 90,000
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